

Bid No. 2019-1 Columbia County Board of County Commissioners

Cannon Creek Drainage Improvements Bid Opening 12/18/19

Company Name	Amount
Anderson Columbia Co. Inc.	Base Bid \$3,332,385.68

4.02 Bid Award: The contract will be awarded to the responsive and responsible Bidder submitting the lowest Base Bid Total plus OWNER Selected Alternate(s) provided the bid is reasonable and in the best interest of the OWNER to accept. The OWNER reserves the right to award in any fashion the bid that best suits the needs of the OWNER.

4.03 Bidder will complete the Work in accordance with the Contract Documents for the following price(s):

COLUMBIA COUNTY NW BELL STREET PAVING AND EXTENSION CONTRACT NO. 1G – GENERAL					
Item No.	Pay Item	Quantity	Unit	Unit Price	Total Price (In Numbers)
1	Mobilization/Demobilization	1	Lump Sum	\$395,547.05	\$395,547.05
2	Clearing and Grubbing	29.2	AC	\$6,843.30	\$199,824.36
3	Maintenance of Traffic	1	Lump Sum	\$149,843.75	\$149,843.75
4	Erosion and Sediment Control	1	Lump Sum	\$89,841.53	\$89,841.53
5	Embankment	46,119	CY	\$9.98	\$460,267.62
6	Excavation	41,435	CY	\$8.71	\$360,898.85
7	12" Type B Stabilization	38,711	SY	\$3.97	\$153,682.67
8	Optional Base Group 1	906	SY	\$11.13	\$10,083.78
9	Optional Base Group 6	24,057	SY	\$10.82	\$260,296.74
10	Friction Course FC9.5, Traffic B	1,633.8	TN	\$119.22	\$194,781.64
11	Type SP Structural Course, Traffic B	1,983	TN	\$119.22	\$236,413.26
12	Conc. Pipe Culvert (S/CD) (18")	1,648	LF	\$60.57	\$99,819.36
13	Conc. Pipe Culvert (S/CD) (24")	1,521	LF	\$76.42	\$116,234.82
14	Conc. Pipe Culvert (S/CD) (30")	486	LF	\$111.35	\$54,116.10
15	Conc. Pipe Culvert (S/CD) Ellip/Arch (24")	484	EA	\$108.71	\$52,615.64
16	Conc. Pipe Culvert (S/CD) Ellip/Arch (30")	99	EA	\$173.67	\$17,193.33

COLUMBIA COUNTY
NW BELLS STREET PAVING AND EXTENSION
CONTRACT NO. 1G – GENERAL

Item No.	Pay Item	Quantity	Unit	Unit Price	Total Price (In Numbers)
17	24" Mitered End Section	8	EA	\$1,189.52	\$9,516.16
18	30" Mitered End Section	2	EA	\$2,889.26	\$5,778.52
19	24" Mitered End Section (Ellip/Arch)	8	EA	\$1,552.67	\$12,421.36
20	30" Mitered End Section (Ellip/Arch)	2	EA	\$2,597.44	\$5,194.88
21	18" Mitered End Section (SD)	18	EA	\$1,035.36	\$18,636.48
22	24" Mitered End Section (SD)	2	EA	\$2,016.20	\$4,032.40
23	Type "C" Ditch Bottom Inlet, J-Bottom <10'	16	EA	\$7,206.17	\$115,298.72
24	4" Concrete Sidewalk	39	SY	\$68.49	\$2,671.11
25	Detectable Warning	32	SF	\$41.06	\$1,313.92
26	Seeding and Mulching	63,833	SY	\$0.27	\$17,234.91
27	Sodding	48,458	SY	\$2.45	\$118,722.10
28	Fence Type "A"	3,432	LF	\$8.34	\$28,622.88
29	Fence Gate, Type "A" 12'	2	EA	\$2,765.38	\$5,530.76
30	Painted Pavement Marking and RPMs	1	Lump Sum	\$29,845.00	\$29,845.00
31	Roadway Signs	1	Lump Sum	\$4,105.98	\$4,105.98
32	Owner's contingency allowance for additional work, as authorized by OWNER.	1	Additional		\$100,000
33	Allowance for required permitting fees, as authorized by ENGINEER.	1	Additional		\$2,000

TOTAL \$3,332,385.68

COLUMBIA COUNTY
 NW BELL STREET PAVING AND EXTENSION
 CONTRACT NO. 1G – GENERAL

SCHEDULE OF ADDITIVE ALTERNATES

Item	Description	Quantity	Unit	Amount of Increase to Base Bid
34	Furnish and install 6" gas main along C.R. 25A	1	Lump Sum	\$195,000.00
35	Furnish and install 6" gas main along proposed Bell Street	1	Lump Sum	\$195,000.00

The OWNER reserves the right to award project based on the Total Base Bid and any combination of Additive Alternate Bid Items.

- 4.04 Combined Bids: (Not Used)
- 4.05 Unit prices have been computed in accordance with Paragraph 11.03.B of the General Conditions.
- 4.06 Bidder acknowledges that estimated quantities of items of Unit Price Work are not guaranteed and are solely for the purpose of comparison of Bids, and final payment for all Unit Price items will be based on actual quantities of Unit Price Work determined as provided in the Contract Documents.
- 4.07 All specified cash allowances are included in the price(s) set forth above and have been completed in accordance with Paragraph 11.02 of the General Conditions.